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                                       ST. THOMAS SCHOOL, LONI 

                                      PRACTICE SHEET -  4 (2019-20) 

                                            SUBJECT -  MATHS  

                                                       Class-II- _______                 

Name -____________________   Date-_______________Roll no -_______ 

Note- Complete it, paste it in maths notebook and bring it on 17.02.2020. 

Q1. Do as directed.                                                                                                                             (7)                                                                                               

  a)  1m =___________ cm 

  b)  1km=__________m 

  c)  ____________________ is used to measure longer lengths. 

  d)  The length of a car is measured in  ______________ 

  e) 9X6=________. 

  f)  10X 4=___________. 

  g) 50 cm + 40 cm=__________ 

 h)70 cm+ 10 cm =_________ 

i) 22 m -14 m=  __________ 

j) 50 m – 25 m=_________ 

Q2. Show the given time on the clock 

                                                        Time: 8:30 

                                                               

Q3.Answer the following: 

a) 10 tens =  ______________    or    ________    hundred 

b)  80 tens = _______________    or    ________    hundred                                                                                                 

Q4.What comes next:   

a) 179,180                ______________ ,   _____________  , _______________ 

b)  216 , 217              ______________ , ______________  , _______________   
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Q5.Solve 

 

 

 

Q.  

 

Q6. Renu got many gifts on her birthday. She made a chart of all different gifts she got .Read 
the data and answer the following questions : 

 Names Number of chocolates 

1. Bangle 5 

2. Eraser 14 

3. Pencil 12 

4. Doll 5 

 a) Which gift item was most in number?__________ 

b) Which gift item was least in number?________ 

c)Which gift items were same in number ?___________   and _______________         .    

                                                                                                                                                                                                                                                                                                                                                              
Q7.Word Problem:                                                                                                                               

a)? Geeta has 42 flowers. She gave 19 flowers to Ritu. How many flowers are left with Geeta? 

  Tens Ones 

    

    

    

    

 

Answer : ___________ flowers 

 

 Tens Ones 

   

 1 6 

+ 2 6 

   

 Tens Ones 

   

 2 8 

+ 4 7 

   

 Tens Ones 

   

 9 1 

- 3 0 

   


